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Question Number : 1 Question Id : 70819115244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1,3
The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :

Options:
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Question Number : 1 Question Id : 70819115244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 70819115245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :
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Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 70819115246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius 1 m under the action of their own mutual gravitational attraction. The speed
of each particle will be :

Options:
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Question Number : 3 Question Id : 70819115246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819115247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

| S M.L of thin circular ring about its diameter,

[,=M.L of circular disc about an axis perpendicular to disc and going through the centre,
I;=M.L of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.

Then :

Options :

70819150893 A collegedunia



k3| wn

Lh = 40
70819150894, ! 2 ot

70819150895, 1— 2= <1

70819150896, 11~ 27137 1y

Question Number : 4 Question Id : 70819115247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites 5, and 5, with periods of revolution 1 hr. and 8 hr. respectively
mﬂm@mmﬂaﬂmﬂmmmMmﬂBﬂmMmMmthﬁmﬁdeMﬁtmm
angular velocity of satellite S is :

Options :
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Question Number : 5 Question Id : 70819115248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819115249 Question Type : MCQ Option Shufflina : Yes Ts

Question Mandatory : No Qcollegeduma



Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is “a” at room temperature ‘T’, the
coefficient of linear expansion of the metal sheet is “’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options :
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Question Number : 6 Question Id : 70819115249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819115250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and 7 are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
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Question Number : 7 Question Id : 70819115250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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m=— \[ [k, N/m?
70819150908. 9K+ Y

Question Number : 8 Question Id : 70819115251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AME, what would be the shape of the corresponding
acceleration-time graph ?
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Question Number : 8 Question Id : 70819115251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819115252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole ofa perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—-B ’ [sothermal expansion at temperature T so that the volume is doubled from
Vl to V2= ZVl and pressure changes from I"l to Pz-

B=C : [sobaric compression at pressure P'2 to initial volume V I

C—=A . [sochoric changc- Ieading_ to dmange of pressure from F'2 to P‘l.

Total workdone in the complete C}-‘CIC‘ ABCA is:
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Question Number : 9 Question Id : 70819115252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819115253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List 11.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b)  Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :
Options :
70819150917, (@) — (i), (b) — (iii), (¢) — (ii), (d) — (iv)

70819150918, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819150919, @ — (1), (b) — (), (c) — (if), (d) — (1)

70819150920, @) — (i), (b) — (iii), (¢) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819115253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H= - 1 1 |= - 11 & |19 ey |

it - 1 = - 1
(a) HEATIHE () ==
(b) HHHAFEAF (i) f=a am
(c) ®™= (i) @A ==
(d) HH=rE (iv) o fraa wd ®
Options :

70819150917. (@) — (i), (b) — (iii), (c) — (i), (d) — (iv)

70819150918, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

70819150919, @ = ). (B) = (). () = (1), (d) = ) M collegedunia
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Question Number : 11 Question Id : 70819115254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :

M

-
SOV NN

ey

Options:

M+m

AJ
70819150921. M

™

A
“n' M+m

70819150922.

A (M—m
70819150923, Y

—_—

A ||IL
70819150924, Y M-—m

W collegedunias
Question Number : 11 Question Id : 70819115254 Question Type : MCQ Optic Q ''''' ol .



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819115255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A cell E; of emf 6 V and internal resistance 2 (2 is connected with another cell E, of emf 4 V
and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:

P E} X

—

2 Y
6V,20  4V,80

E
r |
'

Options :

70819150925, 2.0 V
70819150926, 3.6 V
70819150927, 5.6 V

70819150928, 10.0 V

Question Number : 12 Question Id : 70819115255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819150925, 2.0 V

70819150926, 3.6 V
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70819150927, 2.6 V

70819150928, 10.0 V

Question Number : 13 Question Id : 70819115256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=ogt+pt?

where ay=20 A/s and ;=8 As~2. Find the charge crossed through a section of the wire in
15 8.

Options :

70819150929, 260 C

70819150930, 2100 C

70819150931, 11250 C

70819150932, 2250 C

Question Number : 13 Question Id : 70819115256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Tl TR W yaIfed v e W e w5 Y R e E
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70819150931, 11250 C

70819150932, 2250 C

Question Number : 14 Question Id : 70819115257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in paraIIcL The ratio of the
equivalent capacities in the two cases will be :

Options :

70819150933, 1:2
70819150934, 2° 1
70819150935, 4: 1

70819150936, 1:4

Question Number : 14 Question Id : 70819115257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819150933, 1:2
2:1
70819150934,

70819150935, 4: 1
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70819150936, 1:4

Question Number : 15 Question Id : 70819115258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side ‘a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :

AX
+0Q +Q
+Q +Q
+Q
+Q A
o —i—> +Q
Options :
' Q [ e A
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Question Number : 15 Question Id : 70819115258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
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Question Number : 16 Question Id : 70819115259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options:
70819150941, 7
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70819150943, 0.5

70819150944, 3.5

Question Number : 16 Question Id : 70819115259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819150941, 7
70819150942, 0-875

70819150943, V-3

70819150944, 3.5

Question Number : 17 Question Id : 70819115260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s -0 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819150945, of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819150946. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819150947, of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819150948, Paschen series.

Question Number : 17 Question Id : 70819115260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819150945, TNET AU 3 Wers HewA, AR AVl 5 TR W AR AT S0 F TR T

20819150946, CESToM I STEF fas, =L 4vit 1 300 Haed AR qre=q 4 F dH G2
70819150947, NS5 Fuit =T Foil e, =T 4oil 1 TH YEST T4 9= AUI H GHA HIH

20819150948, TNEH AUl =1 Uit =y, =T A0l 1 IE HeEA AR TREA F0T H G H

Question Number : 18 Question Id : 70819115261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Two photm\s havi_ng equal linear momenta have equal wave[ongt]'ﬁ.

Statement Il :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.
Options :

70819150949, Both Statement I and Statement Il are true
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70819150950 Both Statement I and Statement 1l are false
70819150951 Statement 1 is true but Statement 1l is false

20819150952 Statement 1 is [alse but Statement 11 is true

Question Number : 18 Question Id : 70819115261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819150950, S RYT I 3R U 11 e 2 |

70819150951, ¥ a1 1 Tel T T HYIT 11 T 2

20819150952, FIT 1 7Te & T YA 11 T 2|

Question Number : 19 Question Id : 70819115262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :

70819150953, /=T M collegedunia



70819150954, /= T

1
f=—=
70819150955. =

Fm
70819150956. 2

Question Number : 19 Question Id : 70819115262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et e S H W gl f S aswar B ¢ & e s A
Options :

70819150953, /=T

70819150954, /= T

|.Ir r}
70819150955. 2

¥
70819150956. 2

Question Number : 20 Question Id : 70819115263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :
70819150957, 41 O cllegedunia
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70819150958.

70819150959, 1:4
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70819150960.

Question Number : 20 Question Id : 70819115263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I F U Tgferdt v H o v Tl = gmd ol = < @ e T g TR e A e
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Options :
70819150957, 41
70819150958, 2: 1
70819150959, 1:4
70819150960, 3 : 1

Physics Section B
Section Id : 708191557
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191837
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819115264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass (.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it
adhere to the wall willbe N,

[g=10 ms~2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819115264 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 kg FA F THE! F T2 AR FANR T AR F A Tfn 0 E 02| 56 T
ZAR 4 T @ F fom o0 W ARl dffw aa s ufmm _ N@mm

[g=10 ms 2]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText )
% collegedunia:



Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115265 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of ight beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30° in clockwise direction,
the intensity of emerging light willbe __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115265 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[ o U WA H foR Terisen W H1E srsgfaa wee O afaq @ @ ) faven 4 fri v
T I i 100 T HIG T F | S A farveren i dfad st (W w5 fam) & i 30° W
feqomerd fewn &y fem smu o Frla W AT A oA E

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115266 Question Type : SA

Qcollegeduniaz



Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115266 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9 m/s I =l W IiGHM S e fowg § fior i o welgg e @ wug w6 21 H9E % 9vER
el e i fewn SOt et fewn & 30° 1 0 A &1 TG % IvEr W F i o6 S xcy ¥
Elﬁx %I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
_ kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m’ on the smaller piston.

Response Type : Numeric

Evaluation Required For SA : Yes

Qcollegeduniaz



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

s e T

F1E FEAIeT < Be T T 5=3HH m T 9 T 100 kg T9H %1 381 950 ¢ | 3fe B¢ feed
T HYM ZoTHM F & T AR F¢ A F = F 9 T o 31 A F = 1 /4T G
WA TEH kg 1 33 G

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115268 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
o2

An inclined plane is bent in such a way that the vertical cross-section is given by y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is Cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText Qcollegeduniag



Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

)
ﬁ%ﬁﬁﬁﬁ%%ﬁ@ﬁﬁﬂfﬂ?ﬂﬂﬂﬂy:%wﬁﬁﬁﬁ' w T E T y
Al a9 x Afaw fawm # ¥ 7l 56 i 9o F S TS w9 2 AR gHE T [E =053,

i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115269 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2 X104 H and 6.28 () respectively
oscillates at 10 MHz frequency. The value of quality factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115269 Question Type : SA

Qcollegeduniaz



Correct Marks : 4 Wrong Marks : 0

TF AR 9y fmd 210~ 4 H F1 9% 991 6.28 (0 1 Ffqde = @ 10 MHz s 4 3er
A% | TH S F AERE FAH [7=314] @l

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115270 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 27(1500t) amplitude modulates a carrier
v. =80 sin 27(100,000t).

The value of percent modulation is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115270 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

FE 9 fOa v, =20 sin 2w(1500t) TF FEF v =80 sin 27(100,000¢) F1 A HET F1 ¢ |
Ffovd qged FMAA ___ E

Response Type : Numeric

Evaluation Required For SA : Yes

Qcollegeduniaz



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115271 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x10"% A,

WAA
1k

p-
2 k() sy
|

'
10V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819115271 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Tafer U AfEg WfMg 2 kO FofRaF I yafea o/ x 104 A 2|
AAA
1k0

N
2K gy

10V Qcollegeduniae



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115272 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Anelectromaenetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
A q ] 6

permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115272 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 GHz 3911 %1 1 foea e T 30 Hieqm § T & T ¢ format st foem werhs
I T T S G2 MA@ A x107 m/s €
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

Qcollegeduniag



5 to 5.001

Question Number : 30 Question Id : 70819115273 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115273 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fopatt 2ifere 7 A ifedl T2 % Ter & e 12V (D.C.) 1 STavashl 21l & | T 2RI
4R fowest &1 39 0 39 U@ D.C. & @ T € o W o 220 V (AC) @il W

yafer & & | afe Tt Fveet #§ W @ GEn 24 & O W @ mufi Fvee d§ w6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

.
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Chemistry Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191558
3

Online
Mandatory
20

20

80

Yes

1
708191838

Yes

Question Number : 31 Question Id : 70819115274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the follf}wing are isostructural pairs ?

A. S0,22" and CrO,?
B. SiCl, and TiCl,
C. NH;and NO,

D. BCl; and Br(Cl,

Options :

70819150971, “* and B only

70819150972, ** and Conly

70819150973, © and Conly

70819150974, © @nd D only

Qcollegeduniae



Question Number : 31 Question Id : 70819115274 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
frefafaa § ¥ FF 4 gEeEAET 9 272
A. SO2” AN CrO2
B. SiCl, 7= TiCl,
C. NH; T NO,
D.  BCL, 941 Br(Cl,
Options :

70819150971, A T4 B AH

70819150972, * T C HA

70819150973, B @41 C HE

70819150974, € @41 D 3

Question Number : 32 Question Id : 70819115275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B
o,
= |E *

logP ——

Options :

n with (n, 0.1 to 0.5)
70819150975.

i % collegedunia:
70819150976, ©8 1 With (n>1) Q ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, :



Ingl with (n < 1)
70819150977. 0

" B Y
i-“ﬂﬂ]li-Z 0to1l
I

70819150978. ™ 4

Question Number : 32 Question Id : 70819115275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

== A9 THard § AB Y@ F1 W1 ®

B
T N /
~ |8

log P ——
Options :
70819150975, 0 (1 0.1 H0.5)

70819150976, 108 0 578 (n > 1)

Ingl, o (n < 1)
70819150977. 5

70819150978.

Question Number : 33 Question Id : 70819115276 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No .
% collegedunia:



Correct Marks : 4 Wrong Marks : 1

Consider the elements Mg, Al S, P and Si, the correct increasing order of their first ionization
enthalpy is :

Options :

70819150979, Al <Mg<Si<S<P

70819150980, Mg <Al <Si<P<S

70819150981, Mg <Al<Si<S5<P

70819150082, Al <Mg<S<Si<P

Question Number : 33 Question Id : 70819115276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ql Mg, AlL'S, P 991 Si W faaR Fifo s9at 7o 19 THed e #1 9l F9 ¢ :

Options:

70819150979, M <Mg<Si<S<P

70819150080, Mg <Al <Si<P <S5

70819150981, M8 < Al<Si<S<P

70819150082, M <Mg<S<Si<P

Question Number : 34 Question Id : 70819115277 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ? Qconegeduma



Options :

70819150983, Calamine

70819150984, Malachite

70819150985, ~iderite

70819150986. Sphalerite

Question Number : 34 Question Id : 70819115277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fAfafad § 9 #1991 UF 995 #5191 F 9FAsS 1o T 9 F3d © 7
Options :

70819150983. ™ 5

70819150984, TCIHISE
70819150985. <

70819150986. £

Question Number : 35 Question Id : 70819115278 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(A) HOCI+ HEO2 — HHD F+Cl 4+ 'C]'2
Choose the correct option.

Qcollegeduniag

Options: ¢



70819150987 I-IR‘C?'2 acts as Dxidising agent in equations (A) and (B).

20819150988 H,0, acts as reducing agent in equations (A) and (B).

20819150989. H-0, act as oxidizing and reducing agent respectively in equations (A) and (B).

20819150990, 11202 acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819115278 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - HO*"+Cl™ +0,
B) L,+H,0,+20H - 21~ +2H,0+0,
frfafad § 9 921 faweq g0

Options:

70819150987, 11202 THIFIN (A) 41 (B) H ST FH 1 HEAl

H,0., THEI0 (A) a1 (B) ¥ AT==4 FH% &1 FE 3l ¢ |
70819150988, 2 2

H,O, THIFI0 (A) 1 (B) H H99: SAFIFI0 F9F 991 AI=57 FHF F1 F Fdl 2|
70819150989, 2 2

H,O,, T (A) T (B) T FHW: STU=7 FHeF 1 SFNF FHF 1 FHH Fa € |
70819150990, 22

Question Number : 36 Question Id : 70819115279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL O, was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :

.
gcollegedumas
aaaaa 's largest Student Review Platform

Options : ¢



20819150991 <= NalALOH)], Y=50,, Z=AlL0;,

70819150992, X =AlOH);, Y=50, Z=AL0;xH,0

70819150993, X=AlOH);, Y=COy Z=AL0;

X =Na[AI(OH),], Y=CO.,, Z=Al,0..xH,O
70819150994, a[A(OH),], 2 203.0H;

Question Number : 36 Question Id : 70819115279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALO, F1 4R § feerm 6 T X a2 | X F faerem 5, 79 Y %1 yafed #9 W Z 9 g
21X, Y @R Z & Fm:

Options :
20819150991, X=Na[Al(OH)4], Y=S0,, Z=AL0;

70819150092, X—AlOH)y Y=50, Z=AL0,xH,0

20819150993, -~ — Al(OH);, Y=CO,, Z=AL0,

X=Na[Al(OH),], Y=CO,, Z=AL0,xH,0
70819150994, 2 205X Hy

Question Number : 37 Question Id : 70819115280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :

Options:

70819150995. Fe
Qcollegedunias



70819150996. €O

70819150997, 2™

70819150998, Cu

Question Number : 37 Question Id : 70819115280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fel #1 3d FUit F feru M2+ /M seieRTE fava =1 9F foas fou s 2, 98 2
Options :

70819150995, Fe
70819150996, Co

70819150997, £n

70819150998, CU

Question Number : 38 Question Id : 70819115281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819150999. Cu, Sn and Zn

70819151000, Cu Zn and Ni

70819151001, ©u. Niand Fe Qﬁﬁﬂi%fﬂ:i’llﬁi



70819151002, 1 Cu, Mg and Mn

Question Number : 38 Question Id : 70819115281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
YT HeE TR TEF ©
Options :

70819150999, <4 Sn @1 Zn

70819151000, €1, Zn T4 Ni

70819151001, Cu, Ni @41 Fe

70819151002, A Cu, Mg T3 Mn

Question Number : 39 Question Id : 70819115282 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819151003, “icid rain

70819151004. Global warming and cancer

70819151005. Corrosion of metals

70819151006, ©zone hole
Qcollegeduniaz



Question Number : 39 Question Id : 70819115282 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEfd F A e § fe et T R 99 g E
Options :

70819151003, ZTFI-=H1 =i

70819151004, hecid @M s a1 F
70819151005, a1 = HEIT =

70819151006, N1 &% il

Question Number : 40 Question Id : 70819115283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,S0, followed by treatment with NaOH ?

/@/\/ CHs

HO

Options :

70819151007.
70819151008. OH

H3C:©:\/ h
Qcollegeduniaz

708191510009. HO 2 -



HO CH,

SO

CH,
70819151010. :

Question Number : 40 Question Id : 70819115283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

frafatad  § [ @ A 9% H,S0, § 4w TTewens § afuiEa % W[ NaOH #
A afefn F2e e 2 E

70819151007, HO

Q-
H3C j@\/
OH

Options :

CH;
70819151008,

CH,

HO

Ho:@\/ CH,
HO CH,

708191510009.

70819151010.

Question Number : 41 Question Id : 70819115284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

W collegedunia:
Correct Marks : 4 Wrong Marks : 1 Q ,,,,,,,,,,,,, o, .



CH CH
NeTINCH,

What is the major product formed by HI on reaction with

CH,
CH,
Options :
CH;
CH, f|h C CH,I
70819151011, CH; H
CH;,
CH3 —C—CH—CH,
I CH,
70819151012. :
CH,
CH;—C—CH—CH,
70819151013, CH; 1
CHy —CH CH CH, — CH,
70819151014. - B

Question Number : 41 Question Id : 70819115284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

, g~ | ~CH 1 g
HI =i }E-/j %CHEQWWE@WW%?
CHj,

CH,
Options :

70819151011, M collegedunia



CH,

CH;—C—CH— CH,1

C1l, H

CH, C—CH CH;
I

70819151012.

CH3—C—CH—CH,

70819151013. Chgd

CHj | CH CH> CHj

I

CH; |1

70819151014.

Question Number : 42 Question Id : 70819115285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
?
CH3CH,CHy ———> CH;CH,CHO
Options :

20819151015, Copper at high temperature and pressure

70819151016, Molybdenum oxide

70819151017. Manganese acetate

.
gcollegedumas
aaaaa 's largest Student Review Platform



Potassium permanganate
70819151018.

Question Number : 42 Question Id : 70819115285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Freafafaa § 4 o @1 Afasas afatwn
CH;CH,CH, AN [,CH,CHO

Options :

70819151015, S a1 9 S qUPTH

70819151016. U l 1%

70819151017. S g

70819151018.

Question Number : 43 Question Id : 70819115286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmduct formed in the first step of the reaction of

Br
|
CH3; —CH; —CH—CH, —CH—CHj with excess Mg/Et,O(Et=C;Hx) is :
|
Br

Options :
CH;—CH;—CH—CH,—CH—CH;

| |
CH;—CH—CH,—CH—CH,—CH,
70819151019. Qcollegeduniaz



CH
cus” | ?
"
CH— CHj

CH,

70819151020.

CH;— CH,—CH— CH,— CH— CH,

CH3;—CHy— CH— CH,— CH—CH;
70819151021. @ 2

MgBr
|

CH3CHy;— CH—CH,—CH—CHj
|

70819151022. MgBr

Question Number : 43 Question Id : 70819115286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Br
| Y g = g LY
54 CHy— CHy — CH—CHy—CH—CHj, Mg/EL,O & & § aifufen i 8 7@ 38
|
Br

Form At 75 ¥ fRfag 3o € (Et=C,Hs) :

Options :

CH,—CH,—CH—CH,—CH—CH,

CH;—CH—CH,— CH—CH,—CH
70819151019. 3 2 = 3
CH,

cHy—cn |
70819151020. e

CI—IP,—CI—IZ—(TI—I—C]—IE—CI—I—CH;_

CH;—CH,— CH—CH,—CH—CH,
70819151021, : : M collegedunia



E-'IgBr
|
CH;CH, — CH—CH;—CH — CHj,
|

70819151022. MgBr

Question Number : 44 Question Id : 70819115287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) ‘A’ in the given reaction ?

OH
CH,
CH
H\“‘CI [, M "
(major product)
Options :
Cl
CHs,
CH
\“‘“CHB
70819151023.
CH,
CH=—CH,
70819151024.
CHj;
CH
\\“CI—I3
70819151025.

70819151026.
Qcollegeduniaz



CH,

Cl
CH,— CH,

Question Number : 44 Question Id : 70819115287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& T st § ifam s (9E) AT e ?

OH
CHj;
CH
HM“C}h HCI "
&g 313
Options :
Cl
CH, |
CH
\\CH3
70819151023.
CH,
CH=—=CH,
70819151024,
CH,
CH
H‘“CH3
70819151025.
70819151026.

Qcollegeduniaz



CH,
Cl
CH,—CH,

Question Number : 45 Question Id : 70819115288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CH,
ﬂ/ dil. KMnOy CrO;
273 K > A > B
Options :
CH; CH,3
A OH
70819151027. OH O
CHs CH,
A OH OH
70819151028. OH 0
CHj CH,4
A
70819151029. OH O
O 0
| [
A= OHC =CHOH.CH— - CH: B> HOOC-—CH.CH:CH,-—=C = CH
70819151030. 2Ryl 3 2CH,CH, 3

Question Number : 45 Question Id : 70819115288 Question Type : MCQ Optic

Is Question Mandatory : No . COllegeduniai

eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee



Correct Marks : 4 Wrong Marks : 1

IME A T B =+ Ufg=iu |

CH,

O
I

Q/ dil. KMnOy CrO;
73K A » B
Options:
CH, CH,
A OH B: Q;
70819151027. OH O
CH, CHj,
70819151028. OH O
CH, CH,
70819151029. OH O
o
I
A : OHC —CH,CH,CH,—C—CH, B : HOOC —CH,CH,CH,—C—CH,
70819151030.

Question Number : 46 Question Id : 70819115289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the [ Gllnwmg reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
; NO,
Cone. HNO,
s > + =+
Conc. H,50,, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%

Options :

70819151031 - I\]H?_ group is highl}-' mela-directive

—NO, substitution always takes place at mela-position
70819151032. - §

70819151033. Formation of anilinium ion

low temperature
70819151034.

Question Number : 46 Question Id : 70819115289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FrAfafiaa stfufsran § Fer-aga) 3 & Wt 971 &1 FR0 2 ;

NH, NH, NH, NH,
Conc. HNO,
: > = +
Cone. H,50,, 288 K
NO,»
NO,
[A] [B] [C]
51% 47 % 2%
Options :

20819151031, — NH, T4 Sicaivss der-fdes

.
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70819151032.

B g LT

70819151033.

70819151034, T1 @A

UHAAEE A=A &1 9=

~NO, eI TaT F2r-T4r W & 2 2

Question Number : 47 Question Id : 70819115290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A" and ‘B in the [ DIIowing reactions are :

NH,

NaNO,/HCl SnCL,/HCl/H,0*
2 27 3
(A)

KCN

Options :
+ -
N,Cl
(A):
70819151035.
+
N,Cl
(A):
70819151036.
CN
(A):
70819151037.
70819151038.

-

(B):

(B):

Cl

CHO

Cl

.
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CN

(A):

CHO

(B):

Question Number : 47 Question Id : 70819115290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FreAferfiaa sifyfEFan 4 A" 991'B’ 7
NH,
NaNO,/HCl 5nCl,/HCl/H,O"
KCN

Options :

+ _

N,CI
70819151035.

+ _

N,Cl
70819151036.

CN
70819151037.

CN
70819151038.

> (B)
Cl
-0
CHO
O
Cl
le
CHO

A

Qcollegeduniaz



Question Number : 48 Question Id : 70819115291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List 1 with List 11.

List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i) Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (iii) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options :
20819151039, @ = @), (b) — (id), () — (iii), (d) — (iv)

70819151040, @) = (i), (b) = (iii), (¢) — (i), (d) — (i)

70819151041, @) — (i), (b) — (i), () — (iv), (d) — (iid)

70819151042, (@) — (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 48 Question Id : 70819115291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

il 1 &1 |=0 11 o |19 gAfed it

A T 11

( Tehelsh ( FgeTh )
(a) et () WEFhE =
(b) 2-FARL1A3-FEEEA (i) AN
(c)  SEHETIHA (iif) A 6
(d) TUfmemEEd (iv) TasidE
== feu 73 faswedi § 9 W& 39 g9

Options: gcollegeduniag



70819151039. (@) = (i), (b) — (ii), (c) — (iii), (d) — (iv)

70819151040. (a) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

70819151041, (@) = (i), () = (i), (¢) = (iv), (d) — (i)

70819151042, (a) — (iii), (b) — (iv), (c) —= (1), (d) — (i)

Question Number : 49 Question Id : 70819115292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819151043. vander Waals forces

70819151044. Covalent bonding

70819151045, lonic bonding

70819151046, fivdrogen bonding

Question Number : 49 Question Id : 70819115292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR #1 o 2fcr T F T ¥ fau frafatad § 3 fF8 v 1 o= e e @2
Options :

70819151043, StHCH ¢l

Qcollegeduniaz



70819151044. ok

70819151045. it

70819151046, Segia AT

Question Number : 50 Question Id : 70819115293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1:  Colourless cupric metaborate is reduced to cuprous melaborate in a luminous
flame.

Statement II :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :
70819151047 Both Statement I and Statement 1l are true

70819151048, Both Statement I and Statement 1l are false

70819151049. Statement 1 is true but Statement 1l is false

20819151050. Statement 1 is false but Statement Il is true

Question Number : 50 Question Id : 70819115293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
gcollegedumas
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FITN: TR FYUE FeEE G s | T YerEie § SueErag 8 o ¢

FATI :  ANF TeEeEE a9 FR Gehe H -0 el § T FH T R H2ENE b
ML

e o3 T fadedi § 9 ITE FUA & A W I g9

Options :

70819151047, 4711 741 64T 11 ﬁﬁ%l

70819151048, P& 1 71 T 11 SH1 78 2|

20819151049, FI 1 TF T Fe 11 310 2

20819151050, PV S & UGG HATI T T

Chemistry Section B

Section Id : 708191559
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191839
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819115294 Question Type : SA

Qcollegeduniaz



Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

45 g TR A (e 97 90) % 5TH 250 mL ed faereq M § S o e faeem
FI e M Hax 1071 1 x FATE | (Ui IW)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is __

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

Qcollegeduniaz



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819115295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

U T F HE-HAeH € FE HrEd o aeE H e |

[ W eiifee fo et weampst 9 & = 2 ]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819115296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A proton and a Li®* nucleus are accelerated by the same potential. If A;; and Ap denote the

: A . . AT .
de Broglie wavelengths of Li** and proton respectively, then the value of 2 s yx 1071,

}“}"
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Qcollegeduniaz



Question Number : 53 Question Id : 70819115296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

UF WM 91 UF Lid* gfeerm 1 = e favd | e Ay TN TR L E e

e 1 2 el e 40 S A x10- 1 w1 (i w)
P

[ Li®* &1 Uefd=8.3 WM & afd |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819115297 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For the reaction A, — B, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of A (J for the reaction at 300 K and 1 atm in ] mol ~! is — xR, where 1 is
. (Rounded off to the nearest integer)

[R 8 ’-‘»1 ] mol 'K ! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115297 Question Type : SA

Correct Marks : 4 Wrong Marks : 0 Qcollegeduma



T AfarE Aig}—:.B(E}%faqw e Teegtiss &1 300 K 991 1 atm W 9F 100.0 F U= 2|
300 K 7911 atm W 34121 % faw A G #AF, Jmol !, # xR & SRy FAHE_____ |

(e 3)

[R=8.31 ] mol~1K~1 991 In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115298 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by (.5°C.
The dissociation constant of CICH,COOH is x x 10 . The value of x is
off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

500 mL S H 945 g CICH,COOH fam W 9 fawir 0.5°C iR 5 81 CICH,COOH 1
foiem femi® ax 103 81 xFAME__ | (Yo 3)
(K¢ 1,0)=186 K kg mol ']

. Qcollegedunias
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115299 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and 1 atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture, The value of K]T for the reaction Cl,, = 2Cl;, under the above conditions
is xx10"! The value of xis (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115299 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1990 K 790 1 atm 3@ W A ufwmeia fagw 4 CL, v q91 Cl RS 1 98 99F ¢ | sHfatwn
Clyg) = 2C1 ) % ferw 3w srereaadl K 1 F4 110 13 x®AAE |

(Ui 3R)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

Qcollegeduniag



5 to 5.001

Question Number : 57 Question Id : 70819115300 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The reaction of sulphur in alkaline medium is given below :
g
(Integer answer)

The valuesof ‘a"is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o 1 G Hiems ¥ aAtafaan 2 5 T

Sg oy +2 OH

(s) (aq

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115301 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

r——*1’§ @%+c5;g3w
‘D FEAAE | (quiF W)

Qcollegeduniag



Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
3.3x10 ) s ~lat 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperatureis . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115301 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T EFAr=e 1 RIS § quEdad RO Fii2 F1 WA € foms faw K #1 153°C W 9H
33x10-4s~1 ¥ TH T W THEET F 40% ¥ 90 24 ¥ e o e § onm, 9w ®
(i SW)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115302 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis

(A) BeO (B) BaO (€) Be(OH), (D) Sr(OH),
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Qcollegedumaz



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819115302 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
e § & sl A R TEnE |

(A) BeO (B) BaO {)_BQ{DH)

M

(D) Sr(OH),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115303 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu?t 4 NH-; [LU{N'H;]]

[Cu(NHy) ™" + NH, |Cu(NH, 32]27

. a4 K: +
[Cu(NHa)a ¥ + NH; === [Cu(NH) |

| : 2+ K B 4
[Cu(NHs)s[*" + NH3 === [Cu(NHz),]

The value of stability constants K, K, K, and K, are 104, 1.58 x 103, 5% 102 and 102
respectively. The overall C'quIIIhI‘Lle conqtanfs for diqqocmtmn of [Cu(NH,),J** isx x10~ 2,
The value of x is . (Rounded off to the nearest integer)

Response Type : Numeric

gcollegeduma
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115303 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[Cu(NH,),J2* &1 v&f # fora 1 fean &

4 K +
Cu®* + NHy ==L= [Cu(NH,)}?

K

[Cu(NHy) " + NH; [Cu(NHg), |**

[CU{NH:&]EJ} + NH; o |Cu(NH, ]'SJE*

. o K T4
[Cu(NHz)3 ] + NH3 === [Cu(NHs);]"

st feria K, K, K, T K, % 79 %99: 104,158 x 103, 5x 102 7 102 81 [Cu(NH,),J2*

% fawe & fou oom o femig gax 10721 xwAAE | (qUiF W)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191560
Section Number: 5

Qcollegeduniaz



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191840
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥

3 | =

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =

=3

¥

Then the composition function f(g(x)) is :

Options :
70819151061, °ne-one but not onto

70819151062. onto but not one-one

70819151063 neither one-one nor onto

70819151064. both one-one and onto

Question Number : 61 Question Id : 70819115304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedunia;



A f:R =R, f(x)=2x-150 g :R- {1} - R, g(x) =

f—:d

P

et f(g(x)) :

Options:

20819151061, Shl & T HABEF TE
70819151062, ST91E & T THal Tl ¢
20819151063, 7 THH! € ST 7 STr=I1ea &

20819151064, I 491 SABIEF M &

Question Number : 62 Question Id : 70819115305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p +g=2 and p4 | q4: 272. Then p and q are
roots of the equation :
Options :

54 y s
70819151065, ¥~ 2x +136=0

il '? . 4 sy
70819151066, * X 116=0

Dl
70819151067, ¥ 2x18=0

70819151068.

Question Number : 62 Question Id : 70819115305 Question Type : MCQ Optic

Is Question Mandatory:No 09 R



Correct Marks : 4 Wrong Marks : 1

A p T q A U T g, 7 foru p + q=2 7 pt+ ¢t =272 8, W p 7 g P el
g wE:

Options:

3 . Al
70819151065, ¥~ 2x 1136=0

L ) =
70819151066, ¥ 2x 116=0

'2 j' —
70819151067, ¥ 2X18=0

2_ 9y 40—
70819151068, X 12=0

Question Number : 63 Question Id : 70819115306 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=5m

is inconsistent if :

Options:

708191510609.

k=3 m=
70819151070.

U] e

k=3m£
70819151071.

| e

k=3 meR Qcollegeduniaz

70819151072.



Question Number : 63 Question Id : 70819115306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3x—2y—kz=10
2x —4y—2z=6

x Zy z=5Hhm

Options :
k3. m# i
70819151069. g
k=3 m= i
70819151070. 2
k=3 m r;_i
70819151071. 4

+ 3
70819151072, &7 > MR

Question Number : 64 Question Id : 70819115307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

150, 4 250, - 30, 4 - = 1555C;5 + Uey + MG, + 10 + - + My
Options :

70819151073, 2'° 1

Qcollegeduniae



70819151074, 27— 14

13
70819151075, 2~ 13

~14
70819151076. =

Question Number : 64 Question Id : 70819115307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

__15{',_'1 + 2-15(_'2 = 3'15{:3 i e '15'15{—‘15 i 14{:1 + 14{:3 + l4{:5 . 14{:11 iy
3
Options:
16
70819151073, 21

70819151074, 21 14
13
70819151075, 2~ 13

=14
70819151076. ~

Question Number : 65 Question Id : 70819115308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 5 4 i s .
|\'i!‘.‘i'.‘{h‘1.‘:‘i s 1t "‘“1.‘1-'-\ ]

If e satisfies the equation t2-9t+8=0, then the value of

2sinx T,
T T T —rm 0{.1'{_ 15 :
sinx+ y3cosx

Options :

Qcollegeduniae



M| =

70819151077.

70819151078. V3

<1E

70819151079.

]
<
:_h;.'l

70819151080.

Question Number : 65 Question Id : 70819115308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= |Iu:m::h'iw'lxmm{'xt.. “.“”};P: " 4 5 3 = 2sinx ™
Tqce U A 2 - 9t+ 8=0FI HIE FA E, D<x<—
sin x + +/3 cosx 2
FHAE
Options :
1
70819151077. 2

70819151078. V3

k| L

70819151079.

E
:_ﬁ;.'l

70819151080.

Question Number : 66 Question Id : 70819115309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunia;



J[mw”t_] dt
im% g equal to :

x—l 13

Options:

WM

70819151081.

N0

70819151082.

1
70819151083. 12

70819151084, °

Question Number : 66 Question Id : 70819115309 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

j{ sin \/E ] dt
lim”—jr ELCIE S

x—l x°

Options :

W

70819151081.

*IE"Y

70819151082.

1
70819151083. 12

70819151084, °

Qcollegeduniag



Question Number : 67 Question Id : 70819115310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
. 2

4x3 — 3x? _
The function f(x)= —— — 2Zsinx+ (2x— 1) cosx :

Options :

2

.1 J

decreases in [

1
Imncreases in [_r '-"-‘J
70819151085.

T

70819151086.

1
InNcreases in ( i

70819151087.

1
decreases in ( oy _jj
70819151088.

Question Number : 67 Question Id : 70819115310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4x3 — 342
T f(x) = o S T T O (2x— 1) cosx :

Options :

I | =

= “J-ﬁ”aﬁqFT%

70819151085. {

: ) H
{;w “J H BHAA €
70819151086.

Qcollegeduniaz



l bt I
o3 T qeHE §
70819151087.

1.
=, o | H e g
70819151088. -

Question Number : 68 Question Id : 70819115311 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :
70819151089, 1050

70819151090, 1022

o

70819151091, 260

70819151092, 275

Question Number : 68 Question Id : 70819115311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 Il 7o 8 Faforl & [ v IF FHE A 2, T FH W T G 9 @ A I e
Tl & | U F¥et aM & T F S
Options:

70819151089, 1030

J0819151090, 1625 M collegedunia



70819151091, 260

70819151092, 375

Question Number : 69 Question Id : 70819115312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. ; 2x -1
If f: R — Ris a function defined by f(x)=[x —1] cos[ 11 }rr,where [-] denotes the greatest
LY d=

integer function, then fis :

Options :

20819151093. discontinuous onl}-' at x=1

20819151094. discontinuous at all integral values of x except at x=1

20819151095, continuous only at x=1

continuous for every real x
70819151096. 2

Question Number : 69 Question Id : 70819115312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TSR R, () =[x 1] cos[zx ]]wgmvﬁwfqa%,m[.]wmw%’,

L

?‘ﬁf ’
Options :

70819151093, T X =1 A ¥
Qcollegeduniaz



70819151094 x T | YU A, x=1 F SAfafe, W oHad ¢

70819151095, P x=1 T Had &

70819151096, T ARdah x F forg Haw @

Question Number : 70 Question Id : 70819115313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 4 i o y i
. pCOSX— sInX . =1/ smmx+ cosx . e :
[f —’—_dx = asin IJ — " | 4+ ¢, where c is a constant of mtegrauon, then
V8 — sin 2x \ b )

the ordered pair (a, b) is equal to :
Options:

70819151097, & 1)

70819151098, (1 3)

70819151099, (1 3)

'.1
70819151100. Ll

Question Number : 70 Question Id : 70819115313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i i i _1{sinx4 St \ & 5
J-cou %IIU.dI _ agin”] sinx+ cosx | b & WafE ¢ T TUEER SR L @ &
v8— sin2x \ b J
T (a, b) TR E :

Options :

70819151097, & 1) M collegedunia



70819151098, (1 3)

70819151099, (1 3)

’.‘
70819151100. L

Question Number : 71 Question Id : 70819115314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle %A y3=36, which is outside the parabola

y3 =9y, is :

Options:

70819151101, 247 + 333

70819151102, 247 — 3v3

70819151103, 127 + 343

2 ”*,ﬁ

=

70819151104.

Question Number : 71 Question Id : 70819115314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T4, 22 +y2=36 F 0 9 F £AFA (71 7hIEAl H), N RIAT 2 =% F MR E, T ;
Options :

70819151101, 247 + 333

Qcollegeduniag



20819151102, 247 — 333
70819151103, 127 + 33

70819151104, 127 — 3V3

Question Number : 72 Question Id : 70819115315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The population P=P(t) at time ‘t’ of a certain species follows the differential equation
dp

i 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

log 9
70819151105. Be

1
5 log 18
70819151106. ~

loe 18
70819151107,  oe

2log 18
70819151108. Be

Question Number : 72 Question Id : 70819115315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e . . dp s
WWWW'FWWJP=P(t),-WW,I=U5P 450 =1 G F 2|
f& P(0) =850 %, T T THA, W= Fod i FEE I B 9 € ¢ :

. W collegedunias
Options: Q ,,,,,,,,,,,,, o, .



loo 9
70819151105. Be

1
5log 18
70819151106. ~

loo 18
70819151107,  oe

2log 18
70819151108. Be

Question Number : 73 Question Id : 70819115316 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A man is walking on a straight line. The arithmetic mean of the reciprocals of the intercepts

" l 1
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2 2) and (4, 4) respectively. Then which of these stones is/are on the path of the
man ?

Options :
70819151109, 2 only

70819151110, B only

C only
70819151111. ¢

70819151112, All the three

Question Number : 73 Question Id : 70819115316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag



TF T TF W T W 99 W 2| 30 g e sd W a: ave F e
T 114 %%I T TR A, B 741 C FHT: ﬁﬁ'aﬂ {1,1),(2r23m(4r4]q;p§@§_| ATHY
FA-T1/ Y TeER 39 AR F 19 WE/E?

Options :

70819151109, T A

-,

EEGE
70819151110.

70819151111, T C

[l

70819151112, ¢

Question Number : 74 Question Id : 70819115317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-pnint of the line segment joining the focus of the paralm[a yz =daxtoa

moving point of the parabola, is another parabola whose directrix is :
Options :

70819151113, * =4

da

xX==-—

70819151114, 2
70819151115, ¥ =0
a
Xx=—
70819151116. 2

Question Number : 74 Question Id : 70819115317 Question Type : MCQ Optic Qcollegedunla



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e, 12 =4dax F AY 74 Waed W 7 o fag F1 foen 9ot waEl & we g @
W—qﬂ@ﬁ?w%mﬁmﬁ

Options :

70819151113, * =4

a

xX=-—

70819151114. 2
70819151115, ¥ =0
a
x=—
70819151116. 2

Question Number : 75 Question Id : 70819115318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t¥) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1 : 2 is
Options :

70819151117.

70819151118. <%
70819151119.

70819151120. =

Question Number : 75 Question Id : 70819115318 Question Type : MCQ Optic Qﬁg{!ﬁgggﬂg&jgg



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e T y =3 ¥ famg P(t, ) W Wi+ 7 w9l v 7 1 e & farg Q W foveelt &, 1 3 farg it
Fifz & TE-|ve PQ # AiafE FwA 1 2 H FeA E, ¥

Options :

70819151117.

70819151118. =%
70819151119.

70819151120. =

Question Number : 76 Question Id : 70819115319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, ~3) and perpendicular to the

planes 3x +y-2z=5 and 2v 5y —z=7, is :
Options :
70819151121, 6% Sy +2z+10=0

70819151122, 11Xty +172+38=0

x y T,
70819151123, °X °Y 2 0

_ g o
70819151124, 0%~ 10y~ 2z+11=0

Question Number : 76 Question Id : 70819115319 Question Type : MCQ Optic
Is Question Mandatory : No Qﬁg!ﬂ!ﬁi%ﬁgﬂﬂl&j



Correct Marks : 4 Wrong Marks : 1

39 oA, 3 (1, 2, - 3) W W A & T YHAG, 3x +y — 22=5 T 20— 5y~ z=7 F T &,
EkLicau kS

Options :

70819151121, 0% Sy +2z+10=0

70819151122, 11Xty +172+38=0

- Yy —
70819151123, 0% ¥ 2z~ 2=0

70819151124, 2% 10y -2z +11=0

Question Number : 77 Question Id : 70819115320 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, 1, 9) from the point of intersection of the line

x 1. w4 =
T

and the pIano x+ytz= 17 is

Options:

70819151125, 2v19
70819151126, 192

70819151127, V38

70819151128, 0

Question Number : 77 Question Id : 70819115320 Question Type : MCQ Option Shufflina - Vac
Is Question Mandatory : No Qcollegeduniaé



Correct Marks : 4 Wrong Marks : 1

. x-3 ! 4 z=5 = LY n S
, =J2 = < T T, x+y+2=17 F W g # g (1,1, 9) 0
2

Options :

70819151125, 2v19
70819151126, 192

70819151127. V38

70819151128. I8

Question Number : 78 Question Id : 70819115321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probabilit}-' of getting an odd number for odd number of times is :

Options :

70819151129.

70819151130.

70819151131, 16

M| =

70819151132.

.
Qcollegedumas
aaaaa 's largest Student Review Platform



Question Number : 78 Question Id : 70819115321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T A T FAR ISl S g | AfE SR o e S i, T R g A #i

TRl % aUaR 8, T U foaw e ¥ faw an am i wies ¢

Options :

70819151129. -

70819151130.

70819151131, 16

70819151132, 2

Question Number : 79 Question Id : 70819115322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :
Options :

70819151133, 2

70819151134, ~

b

70819151135, 20v3

Qcollegeduniaz



70819151136

253

Question Number : 79 Question Id : 70819115322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

21 FeER e, 150 m 1 g0 W E 991 A H U U B S S B HE G qF | A v

e

29, S el & URT i e At T wefas W E, Ul & 9l F S S0 T 6 @

B1e T FI 3% (el H) 2

Options :

70819151133

70819151134

70819151135

70819151136

]
wn

b
=
&

Question Number : 80 Question Id : 70819115323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among, the fnﬂﬂwing that is a tautolf}g}-' is :

Options:

70819151137

70819151138.

70819151139.

70819151140.

CAA(AVE)

Av (A AB)

[AA(A—=B)]—=B

B—=[AA(A—=B)]

Qcollegeduniaz



Question Number : 80 Question Id : 70819115323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
11 8§ § 1 |1 A [T ¢ 7
Options:

70819151137, 2~ (A v B)

70819151138, * ¥ (A~ B)

70819151139, |A~(A—=B)]—=B

70819151140, © LA~ (A= B)]

Mathematics Section B

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
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Question Shuffling Allowed :

708191561
6

Online
Mandatory
10

5

20
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1
708191841

Yes
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Question Number : 81 Question Id : 70819115324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0

z€Candi=+-1) has a solution, are p and g respectively; then 4(p* + g% is equal to
p q resp ] pTq q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819115324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AT o F FTATH T AfuFHTH AEaF A4, FF T THF 2+ olz -1/ +2i=0
(eCTMi=y"1)F A, F paqF, W4+ QTRE_____|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115325 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegeduniae



Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

P(B,)

(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then D(Bs) is

equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A UF iaed e | B, (i=1,2, 3) T @A 920 ¢ | Fad B, F 2 1 WAHA o €, FAAB,

T I AR B 3 T A B, % o B WAy | A R o S B, % 2 Fi Wi
p € T A IR WaHA FHE (0 - 20) p=ap T (B-3y) p=2py F T(E FI ¢

P(B
(|t WifaeraTe SF=re (0, 1) W €)1 % TRE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115326 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
Qcollegedumas
aaaaa 's largest Student Review Platform



e
Let P=12 0 «f, where acR. Suppose Q=[ q.] is a matrix satisfying PQ =kI, for
3 -5 0
k 5 9 .19 :
some non-zero ke R. If 3= g and Q = oo thena”tk isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115326 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g = 9
W P={2 0 «ff F@FecR ¥ AMQ=[q;] W e ¥, faw faw pQ=ki,, fdi
3 -5 0

4

TN T i v :
YA, ke R & fog, 71 Afe qu= 3 Q= — & W2+ K2 TR E

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819115327 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegeduniaz



Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WA M IS 3 x 3 e € foraeh sreaa g {0, 1, 2) 9 fod T | 50 e ¥ oAegEl 1 aafersad
we, T MM & foal % sl wmam 78,8 |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819115328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }
B={9%+2: keN}
and C={9%+]: keN}forsomel (0<]<9)

If the sum of all the elements of the set A ™ (B C) is 274 x 400, then[isequalto

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count: Yes

Qcollegeduniaz



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
HAT A={11EN:I1WR—W&€IW%}
B={9%+2: keN}
AN C={9k+1: keN} fFdi1 (0 <1<9) =% feu |
af Tg=a A (B U C) % et a7aaail 1 A1 274 x 400 &, W TR F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— : 1
The minimum value of « for which the equation ins | e has at least one

' T Y\
solution in 1 0, —| is .
i 2)’

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

Qcollegeduniag



5 to 5.001

Question Number : 86 Question Id : 70819115329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= i~ . '1' l .,r ," o =
o 1 T 1M, f55 fa T | =r.iﬂwl[]r;|qwqaﬁq@
L)

siny 1= sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819115330 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d
If I{x Flx = 2)dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

then I(x tlx])dy isequalto .

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Qcollegeduniae



Question Number : 87 Question Id : 70819115330 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a a
A [ (] + o - 2)dx = 22 (a>2) & A ], FET O < 2 F WA E, A [(x+ [x])d
d

a
WERE |

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115331 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle %1 yz 2x— 6y +6=0 is a chord of another circle ‘C’,

whose center is at (2, 1), then its radiusis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115331 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T, 12+12~ 20 —6y -+ 6=0 F HIE T H, FFdl 7 99 'C F 0F A1) AL 99 C W FR
QUNEdmA B TRE |

Response Type : Numeric Qco”egeduniag



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819115332 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- = — o i . e e e
Let three vectors a, b and ¢ be such that ¢ is coplanar with 3 and b, 3 - ¢ =7 and
— —3 —3 " ) ’ A — .’: A
b is perpendicular to ¢, where a =1 + j 4 k and b =2i + k, then the value of

— — ="

2a+b+c| B

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819115332 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TNAITET 2, b 0 o WUFRERR o, WlaWi o TN p FOTANE, 2 ¢ =7 T 70

%
— — -

b, TN FAEaAE, FAFa =i -]+ kTN =27 4 }%,ﬁ]g‘a .

A
v

ELEE

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes Qcollegeduniag



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819115333 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n / \
: - |
lim lan JE Lan 1| — |l> i c-quaI to ‘
I —ex l]‘#]_ \..]_ | P | I'_ ,-"I s S e s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819115333 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i

B
lim tan JE Lan_ll

N —c

1

—v|>w%
r=1 \1+ r4 1--,,]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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